2 1A HAQ,

<
“

<
ld

ofef ]

1.

21
25

0.84




| HAAE

A3

| A0 Hol ¢

:
‘zguq




%
o
~
o|J
Nl

77y

ZF1na




=AUt

BK
Al

75°

{[m

)




ALY

o]

f

>

O

e = A=Y E FYH.




2~
E

o, Lol "ol A 4] Zheket 442 L}

NS

<t I~

0 |©o

o

7} 10, 100, 1000, - - -

s




321
1000

®1

1.125

161

250
21

500

@1

©) 11
21
1_
® 50

1

1=
8

125
1000

1.125 =1




)
<F

olJ
K

q
<

jas

A
1._0.___0

A

T of
Xl oz
E
™
R
< 5l
o7
]
il o

76 84
L8, 1 1.
100’ 18 13000 188 C )

1.72,1

88 89 90 91 92
- 1— 1— 1— 1—
100 @ 100 © 100 @ 100 & 100

‘ adeoh B4k zdo} 7he 0,04 A AR E FHYU, ]

D1




9.

507} 3,645 m % ALFR7} Qe o] £ubRe] ol B ma]
71k 2 YERHA Q.
189 129 121
354 3—— 32—
O 200 m @ 1900 m ® 35 ™
@ 362—Om ® 32_00 m
645 129

1555 = 3300 ™)
1000 200




10.

B

1
2—0, 0.775 0.73 < 0.775 0| B &

3l
0.73 < — fYrt.
<7 AHH




11. ©he 2 0329} 27)7} 2] 9re Bl oL AU
32 16 8 64 8
D 95 95 G YWy
32
— =0.32
100
16 32
8 32
64 32
— =2 - 032
200 100 b
8 _ 40 o4
20 100




L

L 7} 91U, of

ol 72 2

oA

.

H

a1
oF
of-
L]t
ol

oA

Y7o

4|n

o)

o] o] ¢

ol o

ok
o

ul
RO

£ A% Wirolgolx| 7] ¢

| b~

10
35

o] gt

olBE £87} o Bl 5

10

_>_
35




e BAE SHAS.
4.3 % 3.7%2.6

> =

> ®EHT 41.366

= 41.366

4.3%x3.7%x2.6 =1591x%2.6




14. =71€ 8laste] O ¢oll >, =, <& g3 A e e,

94x0.38 (O 0.094 x 38

vV V
0
il
v

94%0.38 » F 425 F A2 &
0.094 x 38 — H2 A4 Al #&] 4=
whebA] 94 x 0.38 > 0.094 x 38 YU th




59 BHE AR AU ohe F AR AAo]
oA AU o

an GL

| k’l -[q’_ 1—:4' 1"

TN " 2]

i&li Al ] o al
L/ L

® 7- vt @v- 4 ® ot - of
@ - 2

® vt

~&B

UG dAELS o &5] 2 0)]
= o3

& 3& 7o}, thet of, afet 7,
SRR

BAEY S o 5] ZAAR = F =3

o
=

_I:.

—

rlo



Gl

@ gor g2

@A 29 2174

& ohet.

s
__OO

s
__00

ol
A~

e
,_0L

iihs

9]

oA A zte] 37]7} Zrin
ol Ao7t thE 4 e B F o]

7}
o]

K]

591 22 obguih,

6];1—




ox

T

Al

=

ol

™

™

upy

Xlo

,mo

T

o/ T W oW

G =

= T odm 4
7 ER T
N 2o U e
3 + H #H ~ T
T T = % M4
o i s = T N
70 = Wonool X
i of BT o W o
T BB N o) B
o oo oo oo oy
J T T T H %
7T o 0 0@ o
7.



T
g
-
)
u

o
=]

ot

18.

% em? QU7

S
.

wol

=

16 cm?

ul
KO

29 ol

4x8+2=16(cm?) YUY},




19. o= A4S 2,

L HRES B T2AS.
- =] -
- A
- -
o

A wo, AH ooz zkzF Jod 9bAs] TAlo] Ayt




0.2 0.5 AHolel G 5 FOIA £B7E 209 7]OFR4E BE 12

5 6 7 8 )
®% ®% @2_0 @% @%

o

79 B BE 0291 0.5 Abolof AT
a TE

| 7]k ®, ®@HYYTE.

ol
2

=]
=T




21.

27 x 183=4941 JUt}. o] o]-gato] [ ot
OA Q.

0.027x183=[ |

> £

> =eh: 4.941

(g ARFE] 40)x(RFA%) =(&5 AlRba] 2)
olmz [ = 4% AzE45Yurt
kAl [ = 4.941 YT




22.

-
‘1’501 ZF 7/1

g2 278 A AL o

rlo
rlo
o

IE2A L,

7} 23.125 x 0.04 1.2.1%3.6
W} 15.12x 0.5 L.04x1.8
t} 5.76 x 0.125 T.0.37x 2.5

71 @7L @t @ o

B

©23.125 x 0.04 = 0.925
11512 %x 0.5 = 7.56

1 5.76 x0.125 = 0.72

1 2.1x3.6="7.56
:04x18=0.72

2 0.37x 2.5 =0.925

webd 7he, th, gee U

nr 4823




23. 0.48 x 80.55 2] H2 443 otel H 2ha] 4912] LA L.

> &

> EE A

B

0.48 x 80.55= 38.664
A 52b] B 1 8x5 = 4001B2 A% ShtE WUk,
(&% FAYS) x (&4 FAES) = (&4 dALL)

Wb 4- 1= 3 2% A% AUt




cm YY7F?

L™~-12cm--" &

o
NIl
o g
S
EE%
o |
4
]
J_l
=
0
B
N o
<a




25. 176x248 = 43648 Y= &1, th-3 Alto] £244-& EYA A2 A&
TE2AQ.
@D 176 x 0.248 = 43.648 @ 0.176 x 248 = 43.648
® 176 x 24.8 = 4364.8 @17.6 X 248 = 4.3648

® 1.76 x 24.8 = 43.648

176 x 248 = 43648
1
@© Fell 15 =]

1 1
176 x 248 X 0= 43648 x 0

17.6 x 248 = 4364.8




